Equal 9 step grey scaling betweebh* g;n=—57.2 andL* ga\w=57.2, Yoref=1.8, normalisation whiteW

L*0anm=57-1,L*0a=0.0, L*0anF57-2, Yoan=1.8, Yoa=18.0, Yoauw=180.0,Coay=Yoaw: Yoan=100.0
L*tan=—40.2,L*tau=2.1, L*tan=57.2, taN=3.6, YaU=19.6, Y;an=180.0,Gay=Yiaw: Ytan=50.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusinDp1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g%= 99, g%= 99 g%= 64, g*y= 57 g’%= 97, g%5= 94
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 112 L*la Al*la

50T (D9 572 10 1800 1.0} 57.2 10 1800 1.0 57.2
: 14.1 11.9

8 429 0875 101.2 0558 43.1 0.855 102.0 0.878 45.3
: 14.0 121

25+ (7 286 075 569 0309 29.1 0712 581  0.753 33.2
: 13.7 12.3

6 143 0625 320 0.169 154 0.571 335  0.627 20.8
: 13.3 12.4

o+@s5 00 05 180 0091 21 0.435 19.6  0.499 8.4
: 12.6 12.4

@+ -142 0375 101 0047 -104 0.305 11.8  0.372 -3.9
3 115 12.2

o5 @3 -285 025 57 0.02p-21.9 0.187 7.4 0.247 -16.1
; 10.0 11.7

@2 428 0125 32 0.008-320 0.084 4.9 0.126 -27.8
3 8.2 12.3

_50#;.1 -571 00 18 00 :-40.2 00 36 0.0 -40.2

. : femtian- Yoait Y
*o = = i normalisation: Yigiw=Yoaw2ai 0ref
AL*o=143  (=12,..8) taiw =Yoawy 2 SOl
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